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PAPER CODE 2016 (S) A

NUMBER: 5261 SSC PART-I (9th CLASS)

GENERAL MATHEMATICS GROUP-| 0 - %,aaf u"’pd 7.
TIME ALLOWED: 20 Minutes OBJECTIVE g",/v,.o w20 =
MAXIMUM MARKS: 15 15= AF

A F L .)Zu’n}u:eiaw-&fuv-cf.h,,rf..w,-m;g:u,}r.-;.ff‘;;..h.’f.,vai;,lrmaém_;w: LD I C B ARl iy
= R L?LJUJJJJL;!(U:&JWJLL&J Bubbles -grfJ!ﬁbﬁvF:?nJ&gﬁ.:u)"Ji_/g Py 4 i_/,iy(ugﬁbukjc.'-ug -
Note: You have four choices for each objective type question as A, B, C and D. iu_./’::-.)’}f?;aulf{.gg_;fr
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circles. Cutting or filling two or more circles will resuit in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve guestion on this sheet of OBJECTIVE PAPER.

Q.No.1 _1 /:‘Uly
(1) 1 interms of percentage is:- -Lwﬁd/.wd = (1)
3 (A) 33% (8) 3319 (©) 30% (D) 3%

(2) Inaproportion ¢:b:c:d, «a af?d d are calied:- _ug;.’/f d s a u.fh/b‘fd’a:b s C TN (2)
(A) Antecedent RN (B) Consequent .*,.Jf‘f § (C)Means c;:b’; (D) Extremes u‘-‘-’}’

(3) Deduction of Zakat on the amount of Rs.1,00,000 is:- e 303 1,00000  (3)
(A) Rs.2500 o (B) Rs.3500 &/ (C) Rs.25000 ¢&» (D) Rs.2000 &

(4) Zakat is deducted at the rate of - ' _c.br‘:.ﬁ,/ FACT
(A) 5.5% (B) 4.5% (C) 3.5% (D) 2.5% .

(5) Profit% =? Where SP>CP shjed > upedfEebuil ()
(A) Proft 2 (B)CPxProfit  4fed x &

P Red 100 100
(©) Profit 04 z < (D) 100x SP 100 X wbspnd
CP pied 100 + Profit 100 + 440

(6) The periodic instalment paid by the insured is called:- -u"ifwd’df mz’,.;iébf'—’! (6)
(A) Bonus ¢/ ” ’ (B) Discount 4K 5 (C) Premium é{ (D) Markup ..J...;L

(7) The charged rate of ProfittMarkup is called:- -u’af [C/LJJUJ"’!JH Sl (7)
(A) Rate vy (B) Time f# (C) Interest »» (D) Principal uJ”l )

(8) The tax charged on all the taxable income s called:- et vt @)
(A) Sales tax Jgk (B) Income tax u’g(rf (C) Direct tax ngbgtc (D) Indirect tax (<&

{9) Duties, in the form of motor vehicle tax is called:- _wéff u‘dﬁd/ 'f’u}r ‘ 7.3;]} (9)
{A) Tax JC (B) Direct tax uﬂ “=nlz (C) Indirect tax Jg “b-1#{ (D) Income tax (/ (‘,

(10) The decimal part in the logarithm of a number is called:- ﬁwc,i/ﬁvﬁ/u’f f)._/.wo’r (10)
(A) Mantissa L (B) Characteristic .« (C) Rational number m[j}’ { (D) Real part ,-«?Jy

(11) GM. between 1 and 8is:- bl 8 1 (1)
(Bl (B) 242 ) -242 (D) +2v2

(12) I 26,18, ... a wilbe- nedd ag t 2,6,18... (12)
(A) 160 (B) 162 (C) 164 (D) 166

B R MR=1(45), (56). 5.4, (69} (13
(13) R = {(4,5), (5,6), (5,4), (6,4) }, then range of R is:-

m {456} B) {4,5} © {56} D) {46} )
(14) if y=3x thenfor x=2, wehave y=7? y=7? ?uf-{ x=2 (o y=3x ¥ (14)
| e BW-3 (B) 6 () 2 (D) ©
(15) X, %f is called:- et T, =Z% (5

(A) Arithmetic mean wdv B) Geometric mean L) | # (C) Weighted mean L-/ﬁuf»i (D) Mode ul;z
33(Obj)( *)—2016(8)4400 (MULTAN)
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- |PAPER CODE 2016 (S) A
GENERAL MATHEMATICS GROUP-I v - oo/ P
TIME ALLOWED: 20 Minutes OBJECTIVE u:":/’,ﬁ 2220 = &
MAXIMUM MARKS: 15 15= Af

e L x‘;L:G}u:m‘:”/&ih/‘C.:..-I’.-'Zc.fnc'_.ufu:?b.’:fé.ué:.st;df:{;:,;é{dfi U cf:..: D . C:BA =t J!.f)ln.ﬂvllr/ Ly
_fé..[a_L‘Jvﬁi/ijaﬂ‘Jd._/Cé Bubbles _{}U!‘jblc'.._/&au&g}faxﬁg d../}, Jok " .»._f,;fw.rmgm_.{ _é.s
Note: You have four choices for each objective type question as A, B, C and D. _QJGJ’JJ;.:. Ulr,;.g,;,gfy
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
to fill the circies. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others biank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) In percentage 0.13 is:- et Fled013 ()
(A)1.3% (B) 0.13% (C) 13% (D) 10%
(2) Lowest form of 75 - 95 is:- <SS 595 ()
(A) 1517 (B) 15 : 19 (C)19: 15 (D)17:15
(3) On a crop produced on natural resources, Ushr is deducted at the <y /J J//" j"" J(J.x(adu;u;,d (3)
rate of - (A) 2.5% (B) 5 % (C) 20 % (D) 10 %
(4) Zakaton an amount of Rs.1,00,000 is Rs.:- S t:l}@/iﬁ;d;u 1,00,000 (4)
(A) 2000 (B) 2500 (C) 1500 (D) 25000 )
(5) Profit is earned when:- '7 ety wﬁf (5)
(A)SP=CP w3yjed = 4 ud (B)SP < CP wiijed < 4jed
(C) SP > CP  wijed » 4ind D)SP S CP w=ijed < 4ind
(6) The person or entity whose insurance has been done is called the:- s d/c.l rrw&_pﬂr ( & /”Lf s (6)
(A) Insured 3, (B) Insurer & (C) Drawer L3 (D) Lessee
(7) Amachine installed by the bank to dispense the cash to customer .-gJL B M:ILC 4 }J;&‘J}?u':ﬁt( Je SN
is called:- (A)ATM /f;:i:._' (B) Computer f‘r‘/ C) Scanner j.fc (D) Card reader ki3
(8) Tax in the form ofdutres motor vehicle taxes are called- -,_,‘c,i/f *u’ Jéfﬁ/‘? s (8)
(A) Property tax :F (B) Income tax /’l (C) Direct tax u"{/bnu (D) Indirect tax (=419}
(9) The tax charged from the owner of a land, house, e bt Pec ML edties S <,..J;JE, (9)

fiat or building is called:-

(A) Direct tax JC “alnly  (B) Indirect tax ’E&Aﬂt (C) Property tax Jg 4l (D) Income tax JC ff

(10) In the logarithm of a number, the integral part is called:- -usdffé_i »ﬁi / {}ILU‘L« (10)
(A) Characteristic -+b (B) Mantissa L% (C) Decimal part .2t 2#1 (D) Reai part ,475""

(11) 9of3, 7, 1, ___ is- - G (37,11, (1)
(A) 23 (B) 15 (C) 17 (D) 19

(12) AM.between ~3 and 343 is- e bsFE 33 V3 (12)
ENE ®) 243 ©) 43 (D) 93

(13) (4NB) =2 (4NB) =2 (13)
(A) A’ﬂ{?(' (B) 4UB (C) ¢ (D) 4UB X

(14) [lx)=5, 4sx=12 el F) Gowenll x B Fx) =5, 452210 g

x is a multiple of 2. The domain of £ (x) is:-

A {23456} (B){3456} €) 13,45} D) {4,6,8,10,12 }

(15) If alt the values of the data set are added together -LUM.JG._EL—YJ/JWJUKQUFL}‘;:_.; Ef;ur"d/:fr.f At (15

and then the total is divided by the number of scores in the set is called:-

(A) Mode sk (B) Median _:6-s (C) Mean Lo (D) Weighted Mean &3

35(0bi)( W )-2016(S)-600  (MULTAN)
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2016 (S) Al

, SSC PART-l (9th CLASS) )

GENERAL MATHEMATICS GROUP- o) Sl
TIME ALLOWED: 2.10  Hours SUBJECTIVE {» 210 = =
MAXIMUM MARKS: 60 60 = AF
NOTE: - Write same question number ..c‘..z-,-uu.fz_:_,;gfr,&é Lusrh iz fir‘&/?léﬁ}b? et

and its part number on answer book, as given in the question paper.
SECTION-l (sl

2. Attempt any six parts. 12=2x6 -é{fagfﬁilszga,ﬁi/ 24 )y
(i) Define Direct Proportion. é'w/"'u’ufw (1)
(i If f;— of the total students in a school have been °ﬁ/u‘”:ﬂ”c'_(u‘r;wnf —‘5’5 W” Fuf fmf /1 (i)
away for a holiday. How many in every hundred have been on holiday?
(ii)  Express 2.64 as percentage. ESerad 264 i)
(iv)  Whatis meant by Ushr? el S (W)
(v)  Calculate the amount of Zakat on an amount of Rs.500000/-. & 5( ﬂ;L‘” ;C/ﬁq,‘._u 500000 (v
(i)  Define Sale Price. Efleied
(vii)  Find CP when SP = Rs.672, profit = 5 %, < 5% wu_.;, 672 wiyjud Loty ied (i)
(viil) A book is sold in Rs.650 at a proft of 30%. é»m/u&,v 26 u;Cu‘a.» 650 40 30% UL (i)
Find the purchasing price of the book.
(ix)  Define Current Account. ZJ}L vifle) (i%)
3. Attempt any six parts. 12=2x6 é//utl:’.f..li"ia.df 34
) What is meant by Maturity? e /LQ.M‘ (i

i) Acomputer's price is Rs.34800 vc.u_xfrw/ -LJWC)’ 16 % UAU™ g 34800 ...»’J/,w‘.,f (il
inclusive of 16 % sales tax. What is the original price of the computer?

7 w e [
(i) Define Tax. MM{W; (i)
(iv}  Write in Scientific Notation, 0.424 o VA (W)
(v} Solve, log36 log36 s F ()
log6 log6
(vi)  Prove that (3log2 + log5 = log40) JEek (i)
(vii)  Write first three terms of a, =31 + 5 a,=3n+5 _u:."’%}}ufdﬁ (Vi)
(viiy ~ Find AM. between 4 and 8. A (AM, wai;v,;i 8.4 (vii)
(ix)  Define Geometric Mean, B &7 (Md/ (iX)
4. Attempt any six parts. 12=2x6 é/jut«!}?{.-f]]m’&d}r Ay

é}l’” AUB Jy B={aq,e Jhou } ol A= {abc}f (1)
()  Find 4UB ,if A4={a.b.c }andg_wuou}

(i) FindaxB,#d={356}amdB={13} B={13}ud={356}dn 4xB

(&)
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(i)

(2)

-u"."%mruf:-ﬁﬁ/ R={(1,3), (1,4), (2,3)} bk
Write Domain and Range of Binary Relation. ® ={(1, 3), (1, 4), (2.3)}

Convert 127°F into c°. _L,j/;fjuf (G / 127°F
Write down the co-ordinates of a point lying -x;yﬁlui;’ 5 :..Lefu._iigufikg.ff —~ :Zuf’ﬁ:flwﬁﬂéf
to the left hand side of x — axis at a distance of 5 units from the origin.
Show the point B(4, 5) in Cartesian Plane. b S B(4,S) B
Write down two important types of measure of central tendency. u"”(tﬁ uf’( I;:JJ Cubasd
Find Range for the data set 10, 18, 9, 6, 22. oy, /(PJJ 10, 18, 9, 6, 22 ¥
M3 3600 &3 4200 « ey 4500 &3 3800 «-1, 3500 &b 4000 st 3000 J,b fb)’f’y“jd!:.’ 57
The individual monthly income of 8 persons is Rs.SDOG,' Rs.4000, -U:/[*y""w@tﬁ?ui ~&&-1 5400

Rs.3500, Rs.3800, Rs.4500, Rs.4200, Rs.3600 and Rs.5400. Find their Arithmetic Mean.
SECTION-Il (.2

)
(vii)
)

(vii

NOTE: - Attempt any three questions.  24=8x 3 ..,“é_,/ faglﬁiwﬂlyuf'cﬂf S

5.(A)

UEELh12 cnlfui 18 L 560 Lub T vl 20
A factory makes 560 fans in 7 days with the help of 20 machmes, How many fans can be made in
12 days with the help of 18 machines? | | ,
S PN L LA 400000 SIS o LS LEL
An amount of Rs.4,00,000 left as an inheritance is 'io be distributed among a widow and four daughters.
Work out the share of each. .
Jur“’éﬂf 5’}‘”,4? m,{J’Cﬂ)Urd.f le(,iw’ 15 J}KA/JL.» 7,50,000 sl Ll ru/J
IfAli, Danyal and Abdullah earn 15 % profit against an investment of Rs.7,50,000. £2:3:520
Find the profit of each if their shares are in the ratio of 2:3: 5.
Find the compound profit on Rs.54000 for B 2% L L Juflze s 54000
one year at 12 % per annum. .
Ur s e UAS 45 % Ins ot 150,000 1 taing s 700,000 LTSS
I total income of a person is Rs.7,00,000 with exempted amount of Rs.150,000.
Find the chargable tax at the rate of 4.5 %.
Solve the following 69.13 x0.34 X 0.014 by the helpof  _z L safUbeL A6 69.13%0.34 x0.014
logarithm table.
Find the 81stterminAP. 3, 7, 11, -weeeeee, "y /r:“”ﬁzus 61 3, 7, 1, —— bt

C={23456} 4 B={1357}4={23579}/
AUBUC) = (AUBUC JE it
f4={23579}, B={1,357} add C={23,456}
then verify that AU(BUC) = (4UBYUC

‘é.b:f)/iuz;;bﬂg{lk,;gdf/?A(l{}, 6), B(~10,6), C(~10,-6), D(10, ~6) b
Draw the points 4(10, 6), B(-10,6), C(-10, —6), D(10, ~6 ) on the graph paper.
Join them and draw a figure.
Find the standard deviation for the data é&.ﬁﬁ@@ﬁi& 1,2, 3, 4,6, 8 11 sy
1,2 3, 4,86 8 11
35-2016(5)-600 (MULTAN)
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(2)
g R= Ly, @0, a4y bl iy
(ii)  Write down Domain and Range of the binary relation R = {( 1, 3), (2, 4), (3, 4)} ;
(v) Convert 80°C into F* scale. GAEs B S 8ee ()

-

_Q)L‘ib'd (ordinate) &4 T sl (abscissa) LA X (x, ») Loy W

(v)  Identify Abscissa and Ordinate in the Ordered Pair (x, )

(vi) Draw thepoint 4 (4, -3) in Cartesian Plane, -uflzuigiﬁ’u’éb’ S 44,-3) B (vi)
(vi)  Calculate Range for the given data 6, 8, 10, 14, 13, 12. . ’/f:L‘”MJ 6, 8, 10, 14, 13, 12 Jlffé_; (vii)
(viii)  How Median is calculated from ungrouped data? ?.g.‘:'lgubfp*”r;;:&«m.ﬂr&ﬁ {viif)
(x)  Calculate mode for the data set 6,2, 4,3,4,5, 4,5, -;,,j/?:i”'ub{ 6,2,4,3,4,545 orliy (ix)

SECTION- /0.2
NOTE: - Attempt any three questions. 24=8x3 -é;fc,yzéwwfa.df n
Brba et L Jb Lk 205 3 S oipe¥ 90 it 2 i dih ()5

5.(A)  Amotorcycle covers 90 Km in 2 litres of patrol. In how many litres of petrol it will cover 225 Km distance?

-éf#'dtucﬁiugﬁadgij 20,005000G{L';EJJJJJ!;L)M.J;{?TAJ Al axugé@fLujygﬁ ()
(B) The inherited property amounting to Rs. 20,00,000 is left by a deceased.
He left behind a widow and two sons. Workout the share of each.

LIty g LIPS 2301 PR 1200 PBEL S ()6
6.(A) Three members of firm divide the profit Rs.67,200/- among themselves in the ratio 2: 3 : 7.
Ffind the share of each.
Ee oLy fal 10k AL Loty 2250000 (L)
(B) Find out the compound markup on Rs.2,50,000/- for one year @ 14% per year.

LIS 50 2 6% LA e rn s dffg (T
7.(A} The price of a bicycle is Rs. 3500. If 16% sales tax is charged, then calculate the amount of sales tax
on 50 such bicycles.

(B) Solve with Logarithm table:- 2‘384x£_‘?91 -':)Uic.:;uJJu;Lﬁﬁ ()

8.(A) Findthree AMs between 3 and 943 G Ll o3 # 3 (8
C={23,5) 4 B={1,17,19,23} « A={1,7,11,1517,21} (<)
(ANBYNC = AN(BNC) et
B) f A={1L7,11,1517,21} , B={11,17,19,23} and C= {2,3,5}
then verify that ( ANB)NC = AN ( BNC)

9.(A) Drawthe graphof » =4x +1 y = 4x + 1 -é{ B E)Y:
(B) Forthedata3, 5 6, 8, 8, 9, 10find Mean, Pl b bl 3, 5,6, 8, 8,910 ¢ (L)
Median and Mode.

33-2016(S)-1400 (MULTAN)
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2016 (S) Ay

__ SSC PART-I (9th CLASS) )
GENERAL MATHEMATICS GROUP bt - s/ Pl
TIME ALLOWED: 210 Hours SUBJECTIVE (Lo 10 = o
MAXIMUM MARKS: 60 60 = Af
NOTE: - Write same question number -c&-bﬂw;.{gfr,@g‘i: Zm/:};’f.m/fi)lru'u{g}_‘ iz o

and its part number on answer book, as given in the question paper.
SECTION- Us.»

2. Attempt any six parts. 12=2x6 ixfuus’é. inc,df 24y
() Define Percent i wd )
(i) Express 1. 25 decimal in percentage. in Mdf 1.25 1 (i)
(i) Express 120% in decimal Lt 120% (i
(v)  Whatis meant by Zakat? St Aesli ()
(v)  Calculate Zakat on gold amounting to Rs.1,10,000. -“ép[”s}@{g f;ﬁ'&;ﬂ 11,10,000 ;«JLJLJF (v)
(V)  What is meant by Loss? ‘ fslflegld (v
(vii)  Find the CP when SP = Rs.672 and Profit = 5%. 5% = Gy 62 = Shjed Bl i)
(viii) A bicycle was purchased for Rs.3450/- -a%&c” sy 144/3850 oy 513450 Fdl i)
and sold for Rs.3850/-. Find the profit percentage.
()  Whatis meant by ATM? Sl e (i dz.i (¥
3. Attempt any six parts. 12=2x6 -é{ ,:.u[ fﬁlifiadf 234
() Define Pay order - LI e 0
(i) Find the excise duty at the rate of 150%, -J);:L“Jm L lee{ /d,wm 50/ﬁ JL.»SOO 000 (i)
against an amount of Rs: 300,000,
(i) Define Income Tax. & J/JJE f (i)
(v)  Write in Scientific Notation (89.99) iu:?ﬁ u' /’ /u‘” v ()
() Solve 108243 Jog2t3 Ji W
log9 log9
(i) If logx = 25321 thenfind x. Eekx Je logx=2521 (i
(i) Wite the fisttree terms of - a, = - T AR =i
(vii) Find AM between—3 and 7. LR (A bl T =3 (i)
() Findthe GM between 2x’and 8 L GM) bl Al 8yt 28 (i)
4. Attempt any six parts. 12=2x6 _égfaglﬁifﬂmja@f .,4/:Ufr

B={2,4,6810} 4 4=1{12345) fiyfk aUB ()
()  Find AUB If 4= {1,2,3,4,5} and B={2,4,6,8,10}

Y. :deiudt«i CxCic={L,23 S i
(i) fC= {12} thenwrite the number of binary relations in ¢ x ¢
( & O )
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